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RIER b AR X EGEH =

HX3—2 REMIEATILBESNGERISHIZEHE1/2) - _ | HmE=EE | FHisEE
SEFBhOMNE | HRES | 140A1052 | BB | KFEIZTH-1 | et EFEMATFH_TH
SYERIHhD FTin(ChEEd 51 ih SMERIHR
*;Eg TREOBBOEILNDOKRES ITREOHBEEILNOKRES TREOBEOEILADKRES ITWEOHBSEILADKRES
R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
1 100kN/m##8% % 1.00{ 0.00 ~ 0.54 107.98| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.33 ~ 13.23 107.98| 3m%x#B 25 =l ~ - - =
s 1.00/0.54 ~ 8.32 100.00( Z=hkl4t+ | 0.00 ~ 8.32] 2.01 10.77 s 1.00f 500 ~ 11.33 100.00f Z=h 4t | 5.00 ~ 13.23| 2.01 10.77
9 100kN/m##8 %% 1.00{0.00 ~ 1.38 120.90| 3m%*x#B2 5% ol ~ = = —| 100kN/mM%#8Z % 1.00( 1244 ~ 21.06 120.90| 3m%x#B 25 =l ~ - - =
s 1.00{1.38 ~ 9.16 100.00f Zhkl9t |0.00 ~ 9.16] 240 12.87 s 1.00f 500 ~ 12.44 100.00f Zhl4t | 5.00 ~ 21.06f 2.40 12.87
3 100kN/m##8 %% 1.00{0.00 ~ 2.15 133.41|3m%x#B25 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.82 ~ 21.03 133.41|3m%Ex#B25 =l ~ - - =
s 1.00] 2.15 ~ 9.94 100.00f Zhklst | 0.00 ~ 9.94| 257 13.77 s 1.00f 5.00 ~ 10.82 100.00f Z=hkl4t+ | 5.00 ~ 21.03| 2.57 13.77
4 100kN/m##8 %% 1.00{0.00 ~ 235 136.66| 3m*x 825 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.56 ~ 20.80 136.66| 3m%x{B =25 =l ~ - - =
s 1.00{2.35 ~ 10.13 100.00f Z=hi4t | 0.00 ~ 10.13] 2.66 14.24 s 1.00f 5.00 ~ 10.56 100.00f Z=hLl4t+ | 5.00 ~ 20.80| 2.66 14.24
5 100kN/m##8 %% 1.00]0.00 ~ 231 135.97|3m%x#B2 5 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.55 ~ 19.77 135.97|3m%x{B2 5 =l ~ - - =
s 1.00{ 2.31 ~ 10.09 100.00( Zhkl4t+ | 0.00 ~ 10.09] 2.41 12.89 s 1.00f 5.00 ~ 10.55 100.00f Zhist | 5.00 ~ 19.77| 2.41 12.89
6 100kN/m##8 %% 1.00{0.00 ~ 217 133.62| 3m%x#B2 5 ol ~ = = —| 100kN/mM%#2Z % 1.00{ 10.53 ~ 19.20 133.62| 3m%x#B 25 =l ~ - - =
s 1.00{2.17 ~ 9.95 100.00f Zhklst | 0.00 ~ 9.95| 2.36 12.61 s 1.00f 5.00 ~ 10.53 100.00f Zhl4t | 5.00 ~ 19.20f 2.36 12.61
7 100kN/mM%#BZ 5 -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
8 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.38 80.25| #hnLlst |0.00 ~ 6.38] 1.81 9.69 st 1.00f 500 ~ 7.56 80.25| ##nLst | 500 ~ 7.56| 1.81 9.69
9 100kN/m##8 %% 1.00{0.00 ~ 1.00 114.97|3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.77 ~ 14.12 114.97| 3m%EF{B25 =l ~ - - =
s 1.00{1.00 ~ 8.78 100.00f Z=hki4t | 0.00 ~ 8.78] 2.09 11.16 s 1.00f 5.00 ~ 10.77 100.00f Zhl4t | 5.00 ~ 1412 2.09 11.16
10 100kN/m##8% % 1.00{0.00 ~ 1.03 115.50| 3m%x #8235 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 11.25 ~ 15.26 115.50| 3m%x#B 25 =l ~ - - =
s 1.00{1.03 ~ 8.82 100.00f Zhkist+ | 0.00 ~ 8.82| 2.19 11.75 st 1.00f 500 ~ 11.25 100.00f Zhl4t+ | 5.00 ~ 1526 2.19 11.75
11 100kN/m##8% % 1.00{0.00 ~ 1.23 118.56| 3m%x #8235 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.55 ~ 1451 118.56| 3m%x#B 25 =l ~ - - =
s 1.00]1.23 ~ 9.01 100.00f Zhkl4t |0.00 ~ 9.01| 2.16 11.55 st 1.00f 5.00 ~ 10.55 100.00f Zhl4t | 5.00 ~ 1451 2.16 11.55
12 100kN/mM%#BZ % -l -~ = -|3mEBZ 5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
zh st -l -~ = -| Fhilst -~ = = = FhLst = -~ = -| Fhiist -~ = = =
13 100kN/mM%#BZ % -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
s 1.00{0.00 ~ 6.74 85.18| #hLlst |0.00 ~ 6.74| 2.06 11.00 s 1.00f 500 ~ 9.85 85.18| =Lyt | 500 ~ 9.85| 2.06 11.00
14 100kN/mM%#BZ % -l -~ = -|3mEBZS -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ B -~ = = =
s 1.00{ 0.00 ~ 4388 60.84| zhLlst | 000 ~ 4.88| 1.63 8.74 s 1.00f 500 ~ 5.26 60.84| =h L4+ | 500 ~ 526( 1.63 8.74
15 100kN/mM%#BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZFBZ 5 -~ = = =
ZTh st 1.00]0.00 ~ 471 58.69| Fh L4t |0.00 ~ 471 1.57 8.39 s 1.00f 500 ~ 5.26 58.69| ThbLlst | 500 ~ 526 1.57 8.:2
=EFR




RIER b AR X EGEH =
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R ma | BT e | B2 | e | o e | B2 | BT e | B2 | TR | & |
16 100kN/m##8% % 1.00{0.00 ~ 1.64 125.12| 3m%x#B 25 ol ~ = = —| 100kN/mM%#BZ % 1.00{ 10.53 ~ 16.24 125.12| 3m%x#B 25 =l ~ - - =
s 1.00{1.64 ~ 943 100.00f Z=hklst | 0.00 ~ 9.43| 2.36 12.66 s 1.00f 5.00 ~ 10.53 100.00f Zhl4t | 5.00 ~ 16.24| 2.36 12.66
17 100kN/mM##BZ 5 -l -~ = -|3mEBZ5 -~ = = —| 100kN/m%#8% % = -~ = -|3mZEBZ 5 -~ = = =
s 1.00{0.00 ~ 6.37 80.11| ZhLlst |0.00 ~ 6.37| 1.82 9.75 s 1.00f 500 ~ 7.57 80.11| =nkist | 500 ~ 7.57| 1.82 9.75
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m#%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ st ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ zhLst ~
100kN/mM%#BZ % ~ 3mEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ zhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ st ~ FhLst ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ st ~ FhLst ~ st ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3ImERBAD ~
zh st ~ FhLst ~ FhLst ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ FhLst ~ st ~ ZhLst ~
100kN/mM%#BZ % ~ 3ImEBAD ~ 100kN/mM%#8% % ~ 3ImERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~
100kN/mM%#BZ 5 ~ 3ImEBAD ~ 100kN/m%#8% % ~ 3mERBAD ~
zh st ~ ZFhLst ~ st ~ ZhLst ~ |
=EFR




